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Problem 2. Visualiz gIdpd 1d Conditional Indepeiiden

Let’s p ent a mpl ectangle with ar . Then we’ll represent events within that sample
space as regio wth q lt th r pro bblty

r the sample space S shown below, draw two mutually exclusive events A and B with P(A) = 1
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Problem 3.

In parts of the world other than San Diego, the weather changes from day to day. In these places, people
try to guess tomorrow’s weather using the current conditions.

Weather data for 20 random days in Columbus, Ohio are recorded below, along with the next day’s weather
(rainy, cloudy, or sunny).

Suppose that today’s/ humidity is > 50%), the temperature is hot, and the air pressure is low. Use Naiv
Bayes (without smoothing) to predict whether tomorrow will be rainy, cloudy, or sunny. Show your WOTK,

- clonss | fFeatures

Next Day’s Weather | Humidity Temperature Air Pressure

Rainy Cool
Rainy « Loy
Rainy - Cool
5 Rainy * @
ﬁc./ Rainy - 25%-50% o
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Cloudy < 25%
Sunny > 50%
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Sunny < 25%
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